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- 2YBWAR 2% R WO Tayy whw 9N
He was sick three and worked three; he is not obligated to complete

Overview

The X713 cites a Xn>12 which states, if an ¥"V was sick for three years and worked
for only three years (of the required six years of servitude), he is not obligated to
complete the full six years, but goes free. N1901n discusses the ramification of this
law regarding teachers (nowadays).

= 137 28N 19N BN MPIH 211951 0999YW OMNRY 99D DI PIY VI
There are those who wanted to say, that those teachers of small children who

are hired for a term, if the teachers were sick half the term (and did not teach)-
= PONNR PAY 113 MY 53 1519 NINT 392 72y 1133 19158 NN D95 11> XY 19 1195

They also should not be required to complete the term just like the 72¥ here in
the X713, and they can take their entire wages without any deduction since they
were ‘forced’ (it was not their fault).

mooIn disagrees:
= 29 MNP (x,3y 97 88 8232) PININD DN 92IVN PI93T DY)

And it is difficult to accept their ruling, for in 212877 nR 92127 295, 21 rules -
- 'oyn K803 19%9N) 13 MNY 919 Ye

A worker can retract and stop working, even in the middle of the day -
- 92 N 9195 17N INTARY INX N 1Y HNRY $RYI S9N NX 191N )N 7599

And the X ) there asks, but we learnt [in a Xn>92]; ‘one who hires a worker
and the worker heard that someone (close to) him died, or he caught a fever,

the worker may retract’. This concludes the Xn»"2. The X »3 infers -
=92 MIND 9199 99N 91 IND NN NIN DINRY N1 1Y H1T XNYL

The reason he may retract is because someone died so he is forced to leave work,
that is when we allow hm to leave (and get paid), but if it is not so (there is no

emergency) he cannot retract (and get paid). This is contrary to s'21 ruling. This concludes

the citation of the X713, MDOIN continues:
=299 7599 N1 DIYN NIV HVI DINT XD IN RNYN)

" A worker was usually hired for the entire day (ten hours) and would be paid for the day (ten 2°11). Whenever the
worker wishes to stop working, he may do so and the owner needs to pay him (pro rata) for the hours her worked
(six hours — six 2°17).

% The w"w amends this to read 'x>n7Y (instead of j11nm).

? The text there reads 112w 12 111 (not 12 MA> 912°); NDOIN continues to paraphrase the Xn3 there.
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But now if in a case where he was 91X, he takes full wages4 (not only what he

worked), what is the question on 29 (according to the o311 v v°)?
= DHWN MOV YL NIN VIINT NN I NNT XN NI

Perhaps where someone died, so he is an ©%R, therefore he takes full wages -
- *N99NY N1 NUN 193 1998 PDRIN NDTA 99N A

But 21 is discussing a case where the worker is not ©31X, and he only takes what

he profited (meaning how much he worked). There is no contradiction!
= %91V N1 NINX DV 139X DIIN M1 133 99 N TN DY NON

Rather perforce we must conclude that even if he is 91X he only receives the

wages for what he profited (by working) -
- 91119\9)3 N Y SnYran nnNa ox oY 99V Nvan byt "nnnnn YY1 DIIN NT IN)

And (it can be inferred from the Xn»92 that) if he is not ©%R and quits, the
worker’s ‘hand is on the bottom’, meaning that the employer may hire other
workers on his (the quitting worker’s) expense, if the owner has the packet of the

worker, or he may fool him -
= YNNI NNV MYYNT DNDN NN 99IWN 23) (3,ny ow) INT

As the mwn states regarding ‘one who hired a worker to remove his flax from

its soaking’, that if the worker quit he can be 1R X 15V W -
- %9455 999Y 7799 NOYM

So now if we disagree with the 7"?> and maintain that one gets paid only for the
work he did but not for the entire period he was hired for, there is a proper

* According to the '0¥11 »aw v, if the worker was 01X (he was sick), he gets paid the full wages agreed upon, not
only for the amount of time he worked. Therefore (according to the '0°¥17 17w w*'), when the X012 stated ( m? 715
"2) [11ow 12 3], it means that since he is 0°IX he may stop working and receive his full payment; even for the hours
he did not work.

> According to the 2", there is no contradiction between 27 and the xn*13, for 21 is discussing a case where X2
0718, and the worker has a right to stop working, however he will receive wages only for the time he worked, not for
the entire day; however the Xn»12 teaches us that if the worker was 0°1X and quits, he receives his entire wage, even
for the time he did not work. [If, however we disagree with the 7"%", and maintain that there is never a case where
the worker receives the entire wage, but rather only for what he worked, the contradiction between 27 and the Xn>>12
is apparent. The Xn>12 teaches that the only time the worker receives wages (for what he worked) is only if he is
0°1X, however 11 maintains that he receives wages (for what he worked) even if he is not 0°1X.]

% moon refers to the work of the 319 as 1”177 (what he profited from working).

7 This expression 7110nN7 ¥ 17 means that he (the worker) is in a bad situation (as opposed to 731971 %9 17 where he
has the ‘upper hand’).

8 If the worker deposited tools or other items by the employer, the employer may sell these tools to hire other
workers (to pay them more) to replace this worker who quit, since he was not 01X. The worker is causing the
employer a loss, by leaving in middle of the day.

? The employer may tell the worker who is quitting that he will pay him double (for instance) if he continues to work
and then he needs to pay only what they agreed upon originally (not double wages).

19 See end of footnote # 5 [in the bracketed area].
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challenge to 29 from the xn>a.

NN concludes:
=INNINY NN NON NP XY DN ON 123 MPIH 11991 15 ON)

And therefore (since no worker receives more pay than for the time he actually
worked [not for the entire agreed upon term]) the mpwn >tab» as well, if they
became sick, they receive payment only for what they worked (even if they are 0x) —

moon will now explain the difference between an ¥"V (who receives payment for the entire term
[not only for what he worked]) and mpwn > (who receive payment only for the time they
actually worked):

= VIRD 93P 199 992y TayT Y93y Tayh HH5 oMNTY PN

For we cannot at all compare the mp1°n > to ¥''y, for an ¥'"'y his body is

acquired by his master (the master owns the ¥"v) -
= IND1993 AN NININ MYYY 9159 PRT DYOYND 299N 1IN YHYW NHN 707N

Therefore if the 72V was sick for three years, he is not obligated to make up the

three years, for he cannot do work more than he is capable -
- 1937 1Y 1115 1LY 99 NYN 23 199 PPN 1591 YaN

However regarding the teacher, his body is not acquired by his employer, but

rather the 7% hired himself out to teach for the entire term -
- 19909 719 XIN 9109 XY 0Y9UAY 9199 139INYD)

And if he cannot complete the term, he can only take payment for what he
worked, and no more.

mooIn offers an additional distinction between ¥"y and a Ta%n:
= 7) 1Ay ) NONT NI TAYT 992y TayY 1191 12 PINY NN TV

And there appears to be an additional distinction between a 72%» and an ¥''y,
for an 72y in a case where he was sick for three years and worked three years -
- 29551 %315 D93W WHY NN (o mew 0D BNIT DIYN DIIWAY 2590 IPNT NIYL 1591

' The difference between an ¥"y and a 39 seems to be that the master of the ¥"v buys the ¥"v (and as a result the ¥"y
needs to work for him [with certain limitations]). Therefore even though the ¥"v did not work the entire time,
nevertheless the master can have no claim against him since the price he paid was to be the owner of the 72y, and the
72y worked as much as he possibly could. [It is (somewhat) similar to someone who bought an item for a fixed period
of time, and it did not meet his expectations, he cannot have any claim against the seller (unless there was obvious
fraud).] See ‘Thinking it over’. However when someone hires a worker, he hires him exclusively for the time he works
for him (there is no ownership of the employer over his employee); therefore he gets paid only for the time he worked.
12 1> >y08 reads; 17 "W DO WRYR KD MM 727 AR,

" The term 7" is used in the 770 to refer to an ¥"y. See »,72 (772) X7p" where it states regarding an ¥"V that 2w>
131 2w1N3, and the X3 previously on X,7 that 2°3w 1°1p "11p 77 °5w. The 11yw> X121 is telling us that the term of an ¥"y
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This is the reason why he is not obligated to complete the six year term, because it is

written in the prophet; ‘(at the end of)[in] three years like the years of a 995w’ -
= D2V WHVY )N POVT DIVT NN )5 ON

Therefore we find that the years of a 95> are three years -
- DY YY TT1aY °9Y 19V Nawn 3 FanaTm

And that is what is written; for he worked for you six years; double the wage

of a 995w (for a 1" is only for three years) -
=199V 5109 DIDWAY 29N 1INRT 9N 999V 1Y 1NT WIY TayT XN TN

So therefore, in a case where the ¥"v worked three years, which are the years of
a 5w, the Xn»12 stated that he is not obligated to complete the term and he

can take his wages -

$9%9VY Y IMAT DNV /) 11aYT 10
Since he worked for three years, which are the years of a 295w. However by a
‘regular’ worker we do not find such dispensation, therefore he receives payment only for the
time he worked.

Summary
A worker is paid only for the time he worked, not for the agreed upon term of work

even if he is DR, An 72¥ who is woW 17717 gets paid for the full term either because
M1p 1913, or his ‘real’ term is only three years.

Thinking it over
1. mooIn explains that an 72y gets paid for the full six years (even if wHw 17%m)
because 17 1. Why therefore should the 72v not be paid in full even if '7 75n2!"

2. What would be the ruling in a case where an 72y was bought four years before
the 921, and he worked two years and was sick for two years; is he obligated to
complete the two sick years?'’

3. Is the explanation of 7°>w 75w 71w» mentioned here in Md0IN in contradiction
with the w17 expounded previously (X,10) that n1v15 mow 12 70m 1212

(a w) is (really only) three years; when the 770 writes six years of servitude for an ¥"¥ that is 7"Ow 12w mwn,
double of what he should work, that is if he is capable, but if he is not capable, then three years is sufficient.

" v (A%0) a7,

'3 See footnote # 10.

' See 23w mx AT onb 2.

17 See »xn (and 19102 38w MK *"97).

'* See x"wm.
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